Problem discussed in the videos:
1) Mudball slingshot (25 points)

A boy builds a large slingshot with spring constant & = 50 N/m for shooti
_ ¥ ing mudballs
at a 3 kg wooden target hanging | m above the ground from a (massless) 1.5 m rope [ ¢
tied 1o 2 tree branch. As always you may use g = 10 m's", T rget does not retat r—"fsf &

a) Ifhe pulls back the slingshot by 2 m and shoots & mudball-af - !
§ L : mass =2Tkg, €
how fast is the mudball moving right after it leaves the slingsho? Satiae e T
b) I;:‘ _alll 1_::;: mud sticks 1o the target, how fast is the targel moving immediately after
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ghest point?
d} If only half of the mud ball sticks to the target and the other half bounc
s back towards the i
} .I-a’?e}::igz T.“s, ha;: Ea.sl would the target move immediately after it is hit? K R T
) If the boy cleans all the mud from the target and then shoots a 3 ke : target
move S T g rubber ball at the target. hmvf fast would the

In the videos we assumed in part (e) that the ball was shot out of the same slingshot with
the same initial 2 m “pullback” as in part (a).
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